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211. ez N4 SR GE I (B RPR EL)

(AT
Sk 24 = (9 H 2 H BE NG B 29 = (9 H 1 H BE
B (5 B 1A 2) £ IO EEE B )
5 % 5 %
TR g 44.230 21,509 22721 48,204 23,441 24763
/N Al 8,918 4,390 4,528 7,200 3,583 3,617
5 R 1,462 753 709 1,552 809 743
JEE %7 788 400 388 865 446 419
T 18 4, 438 219 219 510 246 264
1 b3 2 % 557 265 292 576 275 301
& 45 L& 1,669 845 824 1,817 914 903
= R e 1 711 337 374 772 378 394
X wom oA Boow 497 235 262 487 225 262
BESaEAREES 243 98 145 266 111 155
Tay T 4—EF LA 309 152 157 355 179 176
By o x v 2,244 1,086 1,158 0 0 0
AN H 8,429 4,174 4,255 6,830 3,365 3,465
H 5 1,833 896 937 57 26 31
e £33 AR b 1,819 894 925 2,095 1,028 1,067
i 4 2 H 1,228 655 573 1,219 668 551
2 M e 225 112 113 248 119 129
& WA £ 215 119 96 220 117 103
i 7+ B W 778 390 388 899 437 462
X I H 731 356 375 617 298 319
A Fn =) 1,179 563 616 1,216 575 641
[ H 128 E 254 106 148 259 97 162
Ji, i i 167 83 84 0 0 0
AN 3 8,759 4,214 4,545 5,759 2,772 2,987
- = A I 2,511 1,238 1,273 0 0 0
L H £ 895 416 479 2,703 1,270 1,433
3 I H 1,313 644 669 1,495 754 741
Ei'e i 7 875 436 439 190 90 100
i I M (L ) 1,302 630 672 1,334 638 696
X izk A iR 1,143 519 624 37 20 17
BoE B R EEEE 261 117 144 0 0 0
o = 459 214 245 0 0 0
/I il 7,741 3,721 4,020 8,003 3,908 4,095
i) 7 656 311 345 311 150 161
e =N x s 2,264 1,108 1,156 2,624 1,306 1,318
L R 7 i 1,280 620 660 1,430 700 730
4 VAR AN G 256 122 134 285 131 154
Ei'a 2T — AR NAY 599 291 308 659 328 331
= B E 15 H 534 269 265 548 275 273
X i 2} i I 453 219 234 465 228 237
) 7 = 217 109 108 194 98 96
B BH K G Hh 587 247 340 600 248 352
B HW = — 2 895 425 470 887 444 443
/I B 5,830 2,851 2,979 6,058 2,944 3,114
fiZ2 b3 (A) 810 414 396 855 429 426
& B 566 250 316 624 276 348
- E e 899 434 465 893 430 463
L =2 b 1,410 705 705 1,424 705 719
5 Ty = N A 324 164 160 380 176 204
Ei'e T —H A RN A 17 8 9 21 11 10
= . - kv 7 102 48 54 119 59 60
X % % i i 133 61 72 133 68 65
A P A 4 219 98 121 212 92 120
) @7 = 364 173 191 348 171 177
5 e 76 37 39 71 35 36
L e AV 910 459 451 978 492 486
/N 7T 4,553 2,159 2,394 4,993 2,331 2,662
& o 842 404 438 1,167 544 623
A B 950 460 490 996 472 524
s izt W (A) 3 1 2 9 4 5
6 fisk i3 (B) 78 43 35 69 36 33
5 ik 2y o 466 231 235 486 232 254
b BOR OB o 432 209 223 423 203 220
ol & [} 408 190 218 435 209 226
X BoE B R Hh 129 60 69 208 91 117
B R oy oH (A) 1 1 0 66 32 34
- #o(B) 531 240 291 490 213 277
AT # (C) 713 320 393 644 295 349
w1 [/ # 0 0 0 3,107 1,476 1,631
B 553 0 0 0 3,107 1,476 1,631
F15 D a 0 0 0 6,254 3,062 3,192
(O3 e & ) Ik 0 0 0 2,763 1,383 1,380
e 245 8 " 1 0 0 0 279 172 107
- Ei'a & %@ 0 0 0 1,076 534 542
-y Ei i s I 0 0 0 1,352 628 724
X o 8 R E g 0 0 0 271 113 158
~ X T 0 0 0 513 232 281
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AA-369 H 2 H BUE (AL N)

. AR w0 & jg i AE
Rk 24 4E 60,004 44,230 21,509 22,721 585
25 60,770 44,738 21,763 22,975 508
2% 61,658 45,244 22,026 23,218 506
27 62,566 45,896 22,329 23,567 652
28 62,896 47,676 23,182 24,494 1,780
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A A Y HAEMEEE BEEL oE R - S
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<HE>
SR 18410 A 15 H 38,911 18,894 22,314 10,590 57.35 56.05 58.57 1 4
SRk 22410 A 10 H 42,158 20,511 21,913 10,510 51.98 51.24 52.68 1
Sk 26410 H 19 H 44,638 21,711 23,864 11,339 53.46 52.23 54.63 1 2
<MHR=EBR>
R 194 2 A 4 H 39,313 19,084 22,775 10,764 57.93 56.40 59.38 24 28
F k2342 A 13 H 42,536 20,722 21,726 10,413 51.08 50.25 51.86 24 26
Rk 274 2 A 8 H 44,885 21,830 22,181 10,717 49.42 49.09 49.72 24 28
<RmE>
SRk 184E 11 A 19 H 39,347 19,105 24,217 11,467 61.55 60.02 62.99 1 3
opk 224 11 H 28 H 42,600 20,735 25,161 12,058 59.06 58.15 59.93 1
SRk 2642 11 A 16 H 45,085 21,915 28,375 13,639 62.94 62.24 63.60 1 4
<RBSEBEE>
SR 204 6 A 8 H 40,427 19,667 20,407 9,910 50.48 50.39 50.56 2 3
k2446 H 10 H 43,447 21,078 19,580 9,446 45.07 44 .81 45.30 2 3
E Rt 2846 H 5 H 45,701 22,198 23,053 11,135 50.44 50.16 50.71 2 3
<REbTBE(BEX) >
opk 24 4 12 H 16 H 44,262 21,502 23,830 11,731 53.84 54.56 53.16 1 5
SRk 284 12 A 14 H 45,469 22,113 23,203 11,449 51.03 51.77 50.33 1 2
opk 29 4 10 A 22 H 48,222 23,437 27,467 13,199 56.90 56.26 57.50 1 3
<BERER ( BEK) >
FE k2247 H 11 H 42,465 20,683 21,867 10,583 51.49 51.17 51.80 1 4
ok 257 A 21 H 44,953 21,876 23,212 11,256 51.64 51.45 51.81 1 4 )% 15
ok 28 -7 A 10 H 47,720 23,178 26,199 12,685 54.90 54.73 55.06 1 3 %’;—E
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oAl PR 234 EE PR 2447 255 B PR 264F PRk 2T EE
T R 301 301 297 291 290
B[l & il 40 40 40 38 38
(EE R ] 28 28 27 26 26
i ifi 22 22 22 22 21
Wooow i 29 29 27 27 27
4 B (il 26 26 27 27 27
P i il 24 24 21 21 21
LI S ] 30 30 30 30 30
B R W wW 23 23 23 24 24
2 5 £ m 33 33 34 30 30
R R ] 26 26 26 26 26
[EZIE ) A 20 20 20 20 20
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215. M= SEIRBIHE B %K
AR (31 ) BUE CRAT: \)

gy | o | Rob [TRREESN T S e | A | mame | s
R 244 23 0 0 0 5 2 0 16
25 23 0 0 0 5 2 0 16
26 24 0 0 0 5 2 0 17
27 24 0 0 0 5 2 0 17
28 23 0 0 0 4 2 0 17
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B M 058~ | 30%~ | 408~ | 502~ | 60%%
£ W TERK
Bl wa | % | wia | 2ok | some | 0me | some | ik
Rk 25 A 24 23 20 87.0 3 13.0 0 3 3 7 10
26 24 23 20 87.0 3 13.0 0 2 3 8 10
27 24 24 20 83.3 4 16.7 1 5 4 6 8
28 24 23 19 82.6 4 17.4 0 6 4 3 10
29 24 23 19 82.6 4 17.4 0 5 4 4 10
R AR
217. MR i s B
AAEAE12 A ORBIE (GEAL: )
# oW BITEEL JEE T3 [GES e TN = HIAE | SthieE Z it
¥Rk 25 4R 23 4 0 0 1 0 0 18
26 23 4 0 0 1 0 0 18
27 24 3 0 1 0 0 0 20
28 23 3 0 1 0 0 0 19
29 23 3 0 1 0 0 0 19
GE R EE R
218. F1EL B PE H %
(HAZ: H)
X ) K254 SRR 2647 ERR2TAE SRR 284 R 294 E
wOE £ B = 93 81 102 112 48
BB M B 17 16 23 19 8
B OHF R &£ 14 10 17 9 3
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ol B & 21 27 29 40 20
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219. ik DOEE R,
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X 3 SRR 254E SRR 264F SRR 2TAE Rk 284 YRR 2945
B by 7 7 6 7 5
£ 8] % E Bl & 4 4 4 4 4
e BE 2 3 3 2 3 1
fa oy 84 79 83 77 43
Ea IS I iE Bl = 81 76 81 74 42
i FF 2 3 3 2 3 1
F e 23 24 22 23 11
AR HE E Bl & 20 21 20 20 10
e RF = 3 3 2 3 1
A PG 156 147 152 150 62
2N 5 136 142 131 134 53
I Y 30 39 33 39 17
S
=}
= E BT - 8 7 7 8 0
%
% Pe eS| 34 34 35 37 19
T * O 64 69 56 50 17
AN 3 20 5 21 16 9
(A R I S 2 1 1 1 2
%
I R N L | 0 | 0 0
b7y
gg B R E 11 3 11 11 6
ey
- woo#% 6 1 8 4 1
Z D i 0 0 0 0 0
i J8 0 2 2 4 0
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ERRAELLETIES A 1B, ARG LAREIZ4 A 1 B BUE (AL A, %)

ik 5 B —
SR A A m % R T4 [ ‘H;’ifigbjl\jm\
[t AR LES

HEFN BTAEE 34,937 297 177 59.6 120 40.4 10 117.6
58 36,033 303 182 60.1 121 39.9 6 118.9
59 36,632 319 195  61.1 124 389 16 114.8
60 37,809 316 193 61.1 123 389 A3 119.6
61 38,799 328 204 62.2 124 378 12 118.3
62 39,484 329 209 63.5 120 365 1 120.0
63 40,404 339 216 63.7 123 36.3 10 119.2
SRR AR HE 41,007 339 216 63.7 123 363 0 121.0
9 41,505 337 214 63.5 123 365 A2 123.2
3 42,030 342 220 64.3 122 357 5 122.9
4 42,784 354 227 64.1 127 35.9 12 120.9
5 43,316 360 233 64.7 127 353 6 120.3
6 44,367 380 250  65.8 130 34.2 20 116.8
7 45,271 374 246 65.8 128 34.2 A6 121.0
8 46,600 377 247 65.5 130 345 123.6
9 47,786 380 250  65.8 130 34.2 125.8
10 48,336 389 957 66.1 132 33.9 9 124.3
11 49,205 386 250  64.8 136 35.2 A3 127.5
12 49,718 389 952 64.8 137 35.2 127.8
13 50,019 404 262 64.9 142 35.1 15 123.8
14 50,652 420 273 65.0 147 35.0 16 120.6
15 51,436 412 265  64.3 147 357 A8 124.8
16 51,835 399 959 64.9 140 35.1 A 13 129.9
17 52,546 384 253 65.9 131 34.1 A 15 136.8
18 53,226 376 9252 67.0 124 33.0 A8 141.6
19 54,025 376 251  66.8 125 33.2 0 143.7
20 55,038 375 9252 67.2 123 328 Al 146.8
21 56,050 370 251  67.8 119 32.2 A5 151.5
22 56,867 369 255  69.1 114 30.9 Al 154.1
23 57,957 375 266 70.9 109 29.1 6 154.6
24 58,794 376 269 TL5 107 285 | 156.4
25 59,790 381 212 71.4 109 28.6 5 156.9
2 60,642 388 279 71.9 109 28.1 7 156.3
27 61,609 401 287  71.6 114 28.4 13 153.6
28 62,238 408 289 70.8 119 29.2 152.5
29 62,779 412 295  71.6 117 28.4 4 152.4
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221. X4y BTk B 2 N ONE A
P29/ | ESITE (R %)

2| - Ve pN=C IR LA

u%if\_&iﬁmﬁX% Hﬁﬁéﬁ :F‘i//jﬁzfﬁ% }\ZE& )ij *%ESZH: }\ék % *%ESZH:
7N % 412 37.7 295 71.6 117 28.4
N % 0 58 36.8 47 81.0 11 19.0
( - £ % ) 1 - 1 100.0 0 0.0
o % i 9 37.4 8 88.9 1 11.1
wmoE L W3 3 41.3 3 100.0 0 0.0
A % A 11 35.7 8 72.7 3 27.3
2y B 10 37.0 9 90.0 1 10.0
B % i 13 35.5 10 76.9 3 23.1
84| B AR 11 35.5 8 72.7 3 27.3
1 5] £ 24 37.3 18 75.0 6 25.0
( % £ % ) 1 - 1 100.0 0 0.0
= mofF w 12 34.0 10 83.3 2 16.7
oL B ok B 6 37.5 4 66.7 2 33.3
= < S 5 40.4 3 60.0 2 40.0
m R B B W 56 38.6 29 51.8 27 48.2
( # & % ) 1 - 1 100.0 0 0.0
a0 £ b HE G 7 36.1 6 85.7 1 14.3
il 5§ E: 8 37.9 3 37.5 5 62.5
B OB O & G 16 41.9 4 25.0 12 75.0
R £ & i 17 36.4 8 47.1 9 52.9
£ONE R ORE G 7 37.1 7 100.0 0 0.0
i fik il 61 36.2 33 54.1 28 45.9
( W £ % ) 1 - 1 100.0 0 0.0
CE = R S 14 34.9 7 50.0 7 50.0
2 v - B G 17 37.3 10 58.8 7 41.2
+ BF T X B G 12 34.1 8 66.7 4 33.3
R F 4 H R G 17 36.4 7 41.2 10 58.8
g wm F [T 19 39.1 18 94.7 1 5.3
( % & % ) 1 - 1 100.0 0 0.0
o Fom 3 11 37.5 10 90.9 1 9.1
o O E G 7 39.0 7 100.0 0 0.0
g OB B OB OB 32 37.9 30 93.8 2 6.3
( % £ % ) 1 - 1 100.0 0 0.0
8 it 3 15 36.5 14 93.3 1 6.7
/NN 7 35.3 7 100.0 0 0.0
Bk oKk E G 9 40.1 8 88.9 1 11.1
£ T X E W 23 39.3 18 78.3 5 21.7
( % £ % ) 1 - 1 100.0 0 0.0
b % B 9 38.7 4 44.4 5 55.6
JiE 4 3 13 38.3 13 100.0 0 0.0
ME] 1937 58 35.8 58 100.0 0 0.0
i % G 3 40.3 3 100.0 0 0.0
% %3} 3 5 39.6 5 100.0 0 0.0
Big %3] B 6 45.7 6 100.0 0 0.0
ME| %3} Z 43 33.2 43 100.0 0 0.0
215 EMES = 5 41.6 4 80.0 1 20.0
o H o2 T B R 4 38.3 3 75.0 1 25.0
“§ = § 4 42.5 1 25.0 3 75.0
= 7 E 3 37.0 0 0.0 3 100.0
B x®wg HE £ B £ 2 51.5 2 100.0 0 0.0
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T A T 2 L3
ANE Rk [iAD 858
B = ES B 3 35.0 1 33.3 66.7
BE ¥ £ B = 3 40.0 3 100.0 0.0
# ® % A = 64 38.7 33 51.6 48.4
2 K B F OB 46 38.3 17 37.0 63.0
( - & = ) 1 - 1 100.0 0.0
¥ K #OF G 36 37.5 9 25.0 75.0
EI B 7 36.3 5 71.4 28.6
FRERELH 2 52.0 2 100.0 0.0
£ E 2 ¥ 18 39.4 16 88.9 11.1
( # £ % 1 - 1 100.0 0.0
EJE S IR 11 34.7 9 81.8 18.2
p's it 4 42.8 4 100.0 0.0
= 2 49.0 2 100.0 0.0
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